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public String getGeaJson(String lom, String lat) throws JSONException{
JSONObject point = new JSOMObject():
point. put "type", “Point");
JSONArray coord = new JSONArray( “ ["+lont “, “+lat+ “]1%);
point. put { “coordinates”, coord)

retum point.toString():
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"_id" : Objectld("4dc82e7f7de36a5ceb000000"),
"PERIMETER" : 0,
"NAME" : "5 £,
"PYNAME" : "Mohe Xian",
"AREA": 0,
"ADCODE93" : 232723,
"CNTYPT_ID" : 31,
"CNTYPT_": 1,
"geom" : {

"type" : "Point",

"coordinates" : [

122.53233,
] 52.968872

b

"ID": 1031,
"PN":1,
"CLASS" : "AlI"
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loc:[x,y]
B % T -

db.collection.ensurelndex({<location
field>:"2d"})
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*Db.xgpoint.find({“geom.coordinates”:{Snear:[1
22,5211)
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db.runCommand({geoNear:"xgpoint",near:[122,
56],num:2})
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fil4n .
b.xgpoint.find({"geom.coordinates":{Swithin:{$
box:box}}})

db.xgpoint.find({"geom.coordinates":{Swithin:
{Scenter:[center,radius]}}})
db.xgpoint.find({"geom.coordinates":{Swithin:
{Spolygon:polygon1}}})




